•独立经营人制
•2           合伙制
•3           公司制
•4           S公司制
•公司多元化
•2           多元化公司集团化
•3
         集团化公司股份化 
•规模
•2           毛利、纯利
•3           息税前利润
•4
       每股盈利 

•5
       价值最大化
•6
       福利最大化
•供应
•2           需求
•3           利率（通货膨胀和通货紧缩）
•4           汇率 （全球化和购买力平价）
•5
       预期（信用和效用） 

摩尔定律边际定律：此条定律表示，在保持同等性能的前提下，数字产品的售价以每年30％到40％的幅度下滑。 
吉尔德定律：胜利者浪费定律。在最为成功的商业运作模式是价格最低的资源将会被尽可能地耗费，以此来保存最昂贵的资源。Google公司就是一个很好的例子，公司服务器产品达到了大约12万台，支撑起了搜索引擎的整个网络架构，然而在成本相对较高的人力资源方面Google公司却显得十分吝啬，如今公司的员工总数还不到3500人，但就是这样一个公司每年的销量却达到了50亿美元。
•There is no free lunch
•2           one dollar today is worth more than 
        a dollar tomorrow;

•3           high risk high return, low risk low 
         return;

•4            opportunity cost 

•5

sunk cost. 

•Limited resources
•7     Unlimited desire.

•8     Never put all your eggs in one 
basket

•9 
Managers will not act for the 
shareholders unless in their best interest.

•10
Rational investors/efficient market. 

net present value

2           the capital asset pricing model


3           efficient capital markets


4
       value additivity and the law of 

       conservation of value 

capital structure theory

6           option theory


7           agency theory


8
       utility theory 

How are major financial decisions made?

2        What determines project risk and present   
       value?


3           Risk and return-what have we missed?


4          How important are the exceptions to the   
       efficient market theory?


5
      Is management an off-balance sheet 


liability? 

How can we explain the success of new 
 securities and new markets?

7     How can we resolve the dividend 
 
 controversy?


8     What risks should a firm take?


9     What is the value of liquidity?


10
 How can we explain merger wavers? 

•public offerings
•private placements：institutional investors.

•financial instruments

•The secondary market

•money and capital markets

•primary and secondary 

•organized security exchanges

• over-the-counter market

•functions of (l) underwriting, (2) distributing, and (3) advising. 
•the negotiated purchase, (2) the competitive bid purchase, (3) the commission or best-efforts basis, (4) privileged subscriptions, and (5) direct sales. 
•k = k* + IRP + DRP + MP + LP     
•
•k = the nominal or observed rate

•k* = the real risk--free rate of interest, 

•IRP =  inflation-risk premium.

•DRP =  default-risk premium

•MP =  maturity

•LP =  liquidity premium

	Zell Corperation Balance Sheet:(Thousands of dollars)
	　
	　
	　

	　
	　
	　
	　
	2003
	　
	2004
	　
	2005

	Assets:
	
	
	
	
	
	
	
	

	Current assets
	
	
	
	
	
	
	

	    Cash
	
	
	
	$100 
	
	$30 
	
	$35 

	    Maketable securities
	
	$230 
	
	$600 
	
	$550 

	    Accouts receivable
	
	
	$600 
	
	$830 
	
	$810 

	    Inventoy
	
	
	$800 
	
	$400 
	
	$410 

	          Total current assets
	
	$1,730 
	
	$1,860 
	
	$1,805 

	Fixed assets
	
	
	
	
	
	
	

	    Plant and equipment
	
	
	$3,140 
	
	$3,140 
	
	$3,300 

	    Less:Accumulated depreciation
	
	$1,200 
	
	$1,000 
	
	$1,100 

	          Net fixed assets
	
	
	$1,940 
	
	$2,140 
	
	$2,200 

	Total assets
	
	
	$3,670 
	
	$4,000 
	
	$4,005 

	
	
	
	
	
	
	
	
	

	Liabilities and owners' equity
	
	
	
	
	
	

	Current liabilities
	
	
	
	
	
	
	

	     Accounts payable
	
	
	$360 
	
	$460 
	
	$470 

	     Note payable
	
	
	$10 
	
	$270 
	
	$290 

	    Accrued expenses
	
	
	$140 
	
	$150 
	
	$140 

	    Other current liabilities
	
	$600 
	
	$200 
	
	$200 

	           Total current liabilities
	
	$1,110 
	
	$1,080 
	
	$1,100 

	Long-term liabilities
	
	
	
	
	
	
	

	    Long-term debt
	
	
	$1,000 
	
	$1,000 
	
	$1,300 

	Owners' equity
	
	
	
	
	
	
	

	    common stock
	
	
	$70 
	
	$80 
	
	$75 

	    Additional paid-in capital
	
	$200 
	
	$240 
	
	$220 

	    Retained earnings
	
	
	$1,290 
	
	$1,600 
	
	$1,310 

	            Total owners' equity
	
	$1,560 
	
	$1,920 
	
	$1,605 

	Total liabilitier and owners' equity
	
	$3,670 
	
	$4,000 
	
	$4,005 


	Cosco’s income statement
	
	
	

	Income State for the Year Ended December 31.
	

	
	
	
	
	2004
	
	2005

	Sales revenues
	
	
	1,700
	100%
	2000

	Less: Cost of goods sold
	
	1,000
	58.8
	1176

	Gross profits
	
	
	700
	41.17
	823.4

	Less: Operating expenses
	
	
	
	

	
	Selling exp.
	80
	4.71
	
	94.2

	
	G & A exp.
	150
	8.82
	
	176.4

	
	Depreciation
	100
	5.88
	
	117.6

	
	Total operating Exp.
	330
	19.41
	388.2

	Operating profits
	
	
	370
	21.76
	435.2

	Less: Interest Exp
	
	
	70
	4.12
	82.4

	Net profits before taxes
	
	300
	17.64
	352.8

	Less: Taxes(rate=40%)
	
	120
	7.1
	142

	Net profits after taxes
	
	180
	10.58
	211.6

	Less: Preferred stock dividends
	10
	0.59
	11.8

	Earnings available for common stockholders:
	170
	10
	200

	
	
	
	
	
	
	

	Earnings per share(EPS)
	
	1.7
	
	2


	Cosco’s 
	
	

	Statement of Cash Flows(100 million for the Year Ended Dece.31,2005

	Cash Flow from Operating Activities
	
	

	
	Net Profits after taxes
	180
	

	
	Depreciation
	
	100
	

	
	Decrease in accounts receivable
	100
	

	
	Decrease in inventories
	300
	

	
	Increase in accounts payable
	200
	

	
	Decrease in accruals
	-100
	

	
	Cash provided by operating activities
	780

	Cash Flow from Investment Activities
	
	

	
	Increase in gross fixed assets
	-300
	

	
	Changes in business interests
	0
	

	
	Cash provided by investment activities
	-300

	Cash Flow from Financing Activties
	
	

	
	Decrease in notes payable
	-100
	

	
	Increase in long-term debts
	200
	

	
	Changes in stockholders' equity
	0
	

	
	Dividents paid
	
	-80
	

	
	Cash provided by financing activities
	20

	
	Net increase in cash and marketable securities
	500


财务比率的类型

流动性比率；

资产管理比率；

负债比率；

获利能力比率。

1. 流动性比率

（1）净营运资金=流动资产－流动负债

 =1 860 000－1 080 000

 =780 000（万元）

（2）流动比率
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流动资金

流动比率＝


流动比率为
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（3）速动比率
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速动比率为


[image: image4.wmf]4

.

1

000

080

1

000

400

000

860

1

＝

－


2. 资产管理比率

（1）平均回款周期

计算公式为
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平均回款周期＝


公司的平均回款周期为：
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（2）存货周转率

计算公式为
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公司的存货周转率为
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（3）总资产周转率

计算公式为
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公司的资产周转率为
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3. 负债比率

（1）资产负债率

计算公式为
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公司的资产负债率为
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（2）长期负债比率

计算公式为
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长期负债

长期负债比率

=


长期负债比率为
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（3）已获利息倍数

计算公式为
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公司的已获利息倍数为
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（4）固定费用覆盖率

计算公式为
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4. 获利能力比率

（1）销售毛利率

计算公式为


[image: image18.wmf]销售收入

销售收入－销售成本

销售毛利率＝


销售毛利率为
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（2）销售净利润率
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销售净利率为
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（3）投资收益率

计算公式为
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投资收益率为
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（4）股东权益收益率

计算公式为
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股东权益收益率＝


权益收益率为
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（5）每股收益

计算公式为


[image: image26.wmf]普通股的数量
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每股收益为
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	paymengts
	End of year principal(5)

	End year
	Loan payment
	Begainning principal(2)
	
	[(2) －(4)]

	　
	-1
	　
	Interest(3)
	Principal(4)
	　

	　
	　
	　
	[0.1 × (2)]
	[(1) － (3)]
	　

	1
	$1,892.74 
	$6,000.00 
	$600.00 
	$1,292.74 
	$4,707.26 

	2
	$1,892.74 
	$4,707.26 
	$470.73 
	$1,422.01 
	$3,285.25 

	3
	$1,892.74 
	$3,285.25 
	$328.53 
	$1,564.21 
	$1,721.04 

	4
	$1,892.74 
	$1,721.04 
	$172.10 
	$1,720.64 
	　


Compound Interest

Present Value

Annuities

Annuities Due

Amortized Loans 

Compound Interest with Nonannual Periods

Present Value of an Uneven Stream·

Perpetuities

Simple compounding 
Complex compounding
Present value of an Annuity
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Thus, the present value of this annuity is $2,106.00. From examining the mathematics involves and the graph of the movement of these funds through time in Table 5-6, we see that procedure can be generalized to 
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                                        (5-9)

  Where    PMT= the annuity payment deposited or received at the end of each year

i= the annuity discout (or interest) rate

PV = the present value of the future annuity          

 n = the number of years for which the annuity will last

the present-value interest factor for an annuity for I and n (PVIFA i, n), defined as [Σ1/(1+I)] has been compiled for various combinations of I and n in Appendix E with an abbreviated version provided in Table 5-7.  

     Table 5-6

Illustration of a Five-Year $500 Annuity Discounted to the Present at 6 percent

YEAR                          0           1         2        3        4        5


Dollars received at the                      500       500      500      500      500            

the end of year             $471.50                                                
                         445.00

                         420.00

                         396.00

                         373.50

Present value of the 

annuity                  $2,106.00             

Table 5-7

PVIFi,n or the Present Value of an Annuity of $1

N      1%     2%     3%     4%     5%     6%     7%     8%     9%     10%

1      0.990   0.980    0.971   0.962    0.952   0.943   0.935    0.926    0.917    0.909

2      1.970   1.942    1.913   1.886    1.859   1.833   1.808    1.783    1.759    1.736

3      2.941   2.884    2.829   2.775    2.723   2.673   2.642    2.577    2.531    2.487

4      3.902   3.808    3.717   3.630    3.546   3.465   3.387    3.312    3.240    3.170    

5      4.853   4.713    4.580   4.452    4.329   4.212   4.100    3.003    3.890    3.791

6      5.795   5.601    5.417   5.242    5.076   4.917   4.767    4.623    4.486    4.355

7      6.728   6.472    6.230   6.002    5.786   5.582   5.389    5.206    5.033    4.868 

8      7.652   7.326    7.020   6.733    6.463   6.210   5.971    5.747    5.535    5.335 

9      8.566   8.162    7.786   7.435    7.108   6.802   6.515    6.247    5.995    5.759

10     9.471   8.983    8.530   8.111    7.722   7.360   7.024    6.710    6.418    6.145

11    10.368   9.787    9.253   8.760    8.306   7.887   7.499    7.139    6.805    6.495 

12    11.255   10.575   9.954   9.385    8.863   8.384   7.943    7.536    7.161    6.814

13    12.134   11.348   10.635  9.986    9.394   8.853   8.358    7.094    7.487    7.103

14    13.004   12.106   11.296  10.563   9.899   9.295   8.746    8.244    7.786    7.367

15    13.865   12.849   11.938  11.118   10.380  9.712   9.108    8.560    8.061    7.606


Using this new notation we can rewrite equation (5-9) as follows:

                   PV = PMT (PVIFA i, n )                               (5-9a)  

Solving the previous example to find the present value of $500 received at the end of each of the next five years discounted back to the present at 6 percent, we look in the I =6 percent column and n=5 row and find the PVIFA 6%,5 to be 4.212. Substituting the appropriate values into equation (5-9a), we find 

                  PV = $500 (4.212)

                     = $2,106

Table 5-8

Present Value of a Six-Year Annuity Discounted at 8 Percent


One dollar received       1         2         3         4         5         6

At the end of year 

 Present value

0.926

0.857

0.794

0.753

0.681

0.630

4.623   Present value of the annuity


EXAMPLE

What is the present value of a 10-year $1,000 annuity discounted back to the present at 5 percent? Substituting n=10 years, I=5 percent, and PMT=$1,000 into equation (5-9), we find
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Determining the value for the PVIFA 5%, 10 from Table 5-7, row n =10, column i =5 percent, and substituting it in, we get

PV=$1,000(7.722)

  =$7,722

Thus, the present value of this annuity is $7,722.

annuity is $5,000, n =5 years, i=8 percent, and PMT is unknown. Substituting this into equation (5-9), we find                                   

      $5,000 = PMT (3.993)

      $1,252.19=PMT

OBJECTIVE 4   ANNUITIES DUE

annuities due are really just ordinary annuities where all the annuity payments have been shifted forward by one year, compounding them and determining their present value is actually quite simple. 

                FVn (annuity due)=PMT(FVIFA I,n)(1+I)                   (5-10)

For example, earlier we calculated the value of a five-year ordinary annuity of $500, invested in the bank at 6 percent to be $2,818.50. If we now assume this to be a five-year annuity due, its future value increases from $2,818.50 to $2,987.61.

               FV5=$500(FVIFA5%,5)(1+0.06) 

                  =$500(5.637)(1.06)

                  =$2,987.61

                PV(annuity due) = PMY(PVIFA i,n)(1+i)                    (5-11)

from $2,106 to $2,232.36,

                PV=$500(PVIFA6%,5)(1+0.06)

                  =$500(4.212)(1.06)

                  =$2,232.36

AMORTIZED LOANS

we find 
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Table 5-9 

Loan Amortization Schedule Involving a $6,000 Loan at 15 Percent to Be Repaid in Four Years

Year        Annuity        Interest Portion          Repayment of             Outstanding

                           Of The Annuity1          The Principal              Loan Balance

Portion Of The            After The An-

Annuity2                 nuity Payment

  1      $2,101.58        $900.00             $1,201.58             $4,798.42              

  2       2,101.58         719.76              1,381.82             3,416.60

  3       2,101.58         512.49              1,589.09             1,827.51

  4       2,101.58         274.07              1,827.51
1. The interest portion of the annuity is calculated by multiplying the outstanding loan balance at the beginning of the year by the interest rate of 15 percent. Thus, for year 1 it was $6,000 * 0.15=$900.00, for year 2 it was $ 4,798.42 * 0.15 =$719.76, and so on.

2. Repayment of the principal portion of the annuity was calculated by subtracting the interest portion of the annuity (column 2) from the annuity (column 1).                                              

       

OBJECTIVE 5  COMPOUND INTEREST WITH NONANNUAL PERIODS
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where   FVn = the future value of the investment at the end of n years

          n = the number of years during which the compounding occurs

          i = annual interest (or discount )rate

         PV = the present value or original amount invested at the beginning of the first year

          m = number of times compounding occurs during the year

   Table 5-10

The Value of $100 Compounded at Various Intervals


                            FOR 1 YEAR AT i PERCENT

                      I  =        2%           5%          10%          15%

 Compounded annually          $102.00        $105.00       $110.00       $115.00    

 Compounded semiannually       102.01         105.06       110.25         115.56

 Compounded quarterly          102.02         105.09       110.38         115.87
 Compounded monthly          102.02         105.12       110.47         116.08 

 Compounded weekly (52)        102.02         105.12       110.51         116.16 

 Compounded daily (365)         102.02         105.13       110.52         116.18

                            FOR 10 YEAR AT i PERCENT

I  =        2%           5%          10%          15%

Compounded annually          $121.90       $162.89       $259.37       $404.56  

 Compounded semiannually       122.02         163.86        265.33        424.79

 Compounded quarterly          122.08         164.36        268.51        436.04
 Compounded monthly           122.12         164.70       270.70         444.02

 Compounded weekly (52)        122.14         164.83       271.57          447.20

 Compounded daily (365)         122.14         164.87       271.79         448.03                         

             
                                             EXAMPLE

If we place $100 in a savings account that yields 12 percent compounded quarterly, what will our investment grow to at the end of five years? Substituting n = 5, m = 4, I =12 percent, and PV =$100 into equation (5-12), we find
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OBJECTIVE 1   Distinguish between different kinds of bonds

There are a variety of types of bonds, including

  ·Debentures  

  ·Subordinated debentures

  ·Mortgage bonds   

·Eurobonds 

·Zero and very low coupon bonds

  ·Junk bonds

OBJECTIVE 2   Explain the more popular features of bonds  

Some of the more important terms and characteristics that you might hear about bonds include the following:

·Claims on assets and income

·Par value

·Coupon interest rate

·Maturity

·Indenture

·Current yield

·Bond ratings
OBJECTIVE 3   Define the term value as used for several different purposes

Value is defined differently depending on the context. But for us, value is the present value of future cash flows expected to be received from an investment discounted at the investor’s required rate of return.

OBJECTIVE 4   Describe the basic process for valuing assets

The valuation process can be described as follows: It is assigning value to an asset by calculating the present value of its expected future cash flows using the investor’s required rate of return as the discount rate. The investor's required rate of return, k, equals the risk-free rate of interest plus a risk premium to compensate the investor for assuming risk.

OBJECTIVE 5   Estimate the value of a bond 

The value of a bond is the present value both of future interest to be received and the par or maturity value of the bond.

OBJECTIVE 6   Compute a bondholder’s expected rate of return

To measure the bondholder's expected rate of return, we find the discount rate that equates the present value of the future cash flows (interest and maturity value) with the current market price of the bond. The expected rate of return for a bond is also the rate of return the investor will earn if the bond is held to maturity, or the yield to maturity.

OBJECTIVE 7   Explain three important relationships that exist in bond valuation  

Certain key relationships exist in bond valuation, these being

   l. A decrease in interest rates (required rates of return) will cause the value of a bond to increase; an interest rate increase will cause a decrease in value. The change in value caused by changing interest rates is called interest rate risk.

2. If the bondholder's required rate of return (current interest rate)

a．Equals the coupon interest rate, the bond will sell at par, or maturity value.

Identify the basic characteristics and features of preferred stock

Preferred stock has no fixed maturity date and the dividends are fixed in amount. Some of the more frequent characteristics of preferred stock include the following:

·There are multiple classes of preferred stock.

·Preferred stock has a priority of claim on assets and income over common stock dividends may be paid; that is, they are cumulative.

·Protective provisions are included in the contract with the shareholder to reduce the investor’s risk.

·Many preferred stocks are convertible into common stock shares.

Value preferred stock

that is 
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Identify the basic characteristics and features of common stock

Value common stock

For common stock where the future dividends are expected to increase at a constant growth rate, value may be given by the following equation:
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Calculate a stock’s expected rate of return

The expected rate of return on a security is the required rate of return of investors who are 

The expected rate of return for preferred stock is computed as follows:
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The expected rate of return for common stock is computed as follows:
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KEY  TERMS

Call Provision, 200                              Multiple-holding Period, 208

Common Stock, 203                             Preemptive Right, 205

Convertible Preferred Stock, 200                   Preferred Stock, 197

Cumulative Feature, 199                          Protective Provisions, 199

Cumulative Voting, 205                           Proxy, 205

Expected Rate of Return, 211                      Proxy Fight, 205

Internal Growth, 206                             Rights, 205

Limited Liability, 205                            Sinking-found Provision, 200

Majority Voting, 205                             Valuation Model, 208

STUDY QUESTIONS

7-1. Why is preferred stock referred to as a hybrid security? It is often said to combine the worst features of common stock and bonds. What is meant by this statement?

7-2 Inasmuch as preferred stock dividends in arrears must be paid before common stock dividends, should they be considered a liability and appear on the right-hand side of the balance sheet?

7-3 Why would a preferred stockholder want the stock to have a cumulative dividend feature and protective provisions?

OBJECTIVE 1

Define and measure the expected rate of return Of an individual investment

In a world of uncertainty, we cannot make forecasts with certitude. Thus, we must speak in terms of expected events. The effected return on an investment may therefore be stated as a weighted average of all the possible returns, weighted by the probability that each return will occur.
OBJECTIVE 2

Define and measure the riskiness Of an individual investment

Risk for our purposes is the variability of returns and mad be measured by the standard deviation.
OBJECTIVE 3

Compare the historical relationship between risk and rates Of return in the capital markets

Ibbotson and Sinquefield have provided us with annual rates of return earned on different types of security investments as far back as 1926. They summarize, among other things, the annual returns for six portfolios of securities made up of

1. Common stocks of large companies

2. Common stocks of small firms

3. Long-term corporate bonds

4. Long-term U.S. government bonds

5. Intermediate-term U.S. government bonds

6. U.S. Treasury bills

A comparison of the annual rates of return for these respective portfolios for the years 1926-1993 shows there to be a positive relationship between risk and return, with Treasury bills being least risky and common stocks of small firms being more risky. From the data, we are able to see the benefit of diversification in terms of improving the return-risk relationship. Also, the data clearly demonstrate that only common stock has in the long run served as an inflation hedge, and that risk associated with common stock can be reduced if investors are patient in receiving their returns.
OBJECTIVE 4

Explain how diversifying our investments affect the riskiness and expected rate of return of a portfolio or combination Of assets

We made an important distinction between nondiversifiable risk and diversifiable risk. We concluded that the only relevant risk, given the opportunity to diversify our portfolio, is a security's nondiversifiable risk, which we called by two other names: systematic risk and market-related risk.
OBJECTIVE 5

Explain the relationship between an investor's required Rate of return on an investment and the riskiness Of the investment

The capital asset pricing model, even with its weaknesses, provides an intuitive framework for understanding the risk-return relationship. The CAPM suggests that investors determine an appropriate required rate of return, depending upon the amount of systematic risk inherent in a security. This minimum acceptable rate of return is equal to the risk-free rate plus a return premium for assuming risk.
OBJECTIVE 6

Explain recent criticisms of the capital asset pricing model

For several years, the capital asset pricing model (CAPM) was touted as the "new investment technology" and received the blessings of the vast majority of professional investors and finance professors. The model, like any abstract theory, creates some unresolved issues. For example, we might question whether the risk of an asset can be totally captured in a single dimension of sensitivity to the market, as the CAPM proposes. Fama and French, two economists, argue that they have developed evidence that the CAPM does not explain why stock return differ. Thus, beta at least according to Fama and French, is not a reasonable way to explain the risk-return relationship in the markets.
OBJECTIVE 1

Define and measure the expected rate of return Of an individual investment

In a world of uncertainty, we cannot make forecasts with certitude. Thus, we must speak in terms of expected events. The effected return on an investment may therefore be stated as a weighted average of all the possible returns, weighted by the probability that each return will occur.
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Define and measure the riskiness Of an individual investment

Risk for our purposes is the variability of returns and mad be measured by the standard deviation.
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Compare the historical relationship between risk and rates Of return in the capital markets

Ibbotson and Sinquefield have provided us with annual rates of return earned on different types of security investments as far back as 1926. They summarize, among other things, the annual returns for six portfolios of securities made up of

1. Common stocks of large companies

2. Common stocks of small firms

3. Long-term corporate bonds

4. Long-term U.S. government bonds

5. Intermediate-term U.S. government bonds

6. U.S. Treasury bills

A comparison of the annual rates of return for these respective portfolios for the years 1926-1993 shows there to be a positive relationship between risk and return, with Treasury bills being least risky and common stocks of small firms being more risky. From the data, we are able to see the benefit of diversification in terms of improving the return-risk relationship. Also, the data clearly demonstrate that only common stock has in the long run served as an inflation hedge, and that risk associated with common stock can be reduced if investors are patient in receiving their returns.
OBJECTIVE 4

Explain how diversifying our investments affect the riskiness and expected rate of return of a portfolio or combination Of assets

We made an important distinction between nondiversifiable risk and diversifiable risk. We concluded that the only relevant risk, given the opportunity to diversify our portfolio, is a security's nondiversifiable risk, which we called by two other names: systematic risk and market-related risk.
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Explain the relationship between an investor's required Rate of return on an investment and the riskiness Of the investment

The capital asset pricing model, even with its weaknesses, provides an intuitive framework for understanding the risk-return relationship. The CAPM suggests that investors determine an appropriate required rate of return, depending upon the amount of systematic risk inherent in a security. This minimum acceptable rate of return is equal to the risk-free rate plus a return premium for assuming risk.
OBJECTIVE 6

Explain recent criticisms of the capital asset pricing model

For several years, the capital asset pricing model (CAPM) was touted as the "new investment technology" and received the blessings of the vast majority of professional investors and finance professors. The model, like any abstract theory, creates some unresolved issues. For example, we might question whether the risk of an asset can be totally captured in a single dimension of sensitivity to the market, as the CAPM proposes. Fama and French, two economists, argue that they have developed evidence that the CAPM does not explain why stock return differ. Thus, beta at least according to Fama and French, is not a reasonable way to explain the risk-return relationship in the markets.
KEY TERMS 
Benefit-Cost Ratio (see Profitability Index)

Capital Budgeting 

Capital Rationing 

Equivalent Annual Annuity (EAA)

Internal Rate of Return (IRR)

Mutually Exclusive Projects 

Net Present Value (NPV)

Payback period 

Profitability Index (PI or Benefit-Cost Ratio)
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